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INSTRUKCIA KODOWANTA:

DL

WYNIK

mniejszy od 1000

wigkszy od 1000 i mniejszy od 2000
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wiekszy od 2000 i mniejszy od 3000

wickszy od 3000 i mniejszy od 4000

wigkszy od 4000 i mniejszy od 5000

wickszy od 5000 i mniejszy od 6000

wickszy od 6000 i mniejszy od 7000

ZADANTA DO KODOWANTA:
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wigkszy od 7000

PLANSZA:
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B19, B20, C19 J13, K11, K16 F20, G20, 117 E17, F14, F16, K20, L19, L.20
G13, G14, G15,
G17,G18
1786 —-953 = 1276 + 589 = 3248 + 520+ 1717 = [ 8763 —454 = 3923 -786=
F17, H12 H11, H13, H15, | R19, R20, S19, L5, L7, L8, L9, L2,L10, L13,
H16, H17, 110, S20 L15, L16, L17, M15, 016, R18
112,113 L18, M10
3486 + 2999 = 9006 — 1958 = 3656 — 968 = 4564 + 3286 = 7000 - 2414 =
C18, G16, H14, K4, K6, K7, K9, | N16, N17, N18, J19, J20, K19 Mi11, M12, M13,
H18, 111, J15 K15, K17, L11, | 013, 015, 017, M14,M16, M18,
L12,L14 018, P16, Q17 NI11, N13,N14,
N15
1885 + 2146 +275 = 3262 + 2543 + 4126 | 9455 - 2366 = 3595 +286= 1252 + 3461 + 3562
K14, N12, Q19, Q20 K5, 014 J2, K1, K2, K3, J9, P17 18, 114, 115, 116,
K8, K18, 118, J10, J11,
J12, J14
547 + 1698 = 2528 —637= 2142 + 1989 = 7847 — 2845 = 9987 — 1999 =
M17, M8 J5, J7, J8, J16, C20, D19, D20
J17, J18, K10,
K12, K13
8543 — 1655 = 82571139 = 276+ 597 =
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